H )
o
o
o
o
H6
42% 80%
50% 90%
48% 90%
21% 35%
31% 50%
56% 90%
36% 70%
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58% 80%
81% 90%
65% 90%
14% 60%
11% 50%
40% 90%
32% 80%
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http://www.moc.go.jp./region/recycle/rp21.htm...
http://www.moc.go.jp/region/recycle/ -1.htm...
http://www.jiti.co.jp/graph/kikou/3nakaya/3nakaya.htm...

http://www.asahi-net.or.jp/~zg7-hym/wdi.htm...
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1. X
2. cost gy
3. F fine
D
damage
M

D=gA-(1+t)C(A-y-2)-ry-p(z t)F

T =ry-d(y)
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w=b+m-T+tc(A-y-2)+p(z t)(F-D)-(1-p(z t)D

F.O.C

d—D =(1+t)C-r=0

dy

d—D:(1+t)C'-@F=O

dz dz

d_T[:r-d':O

dy

d_W:t C()’ (ﬂ+% _D%+£ %F:
dt dt dt df dz dt



